Tuesday, 17-12-2019
09:30 am to 12:30 pm (3 Hours)

[This question paper contains 24 printed pages]

Your Roll No. AY201920

Sl. No. of Q. Paper : 7004 J

Unique Paper Code : 22411302

Name of the Course 3 B.Cém. (Hons.)

Name of the Paper : Income Tax Law and
Practice

Semester s IE]

Time : 3 Hours Maximum Marks : §5

Instructions for Candidates:
el & e MEer
(a) Write your Roll No. on the top immediately
on receipt of this question paper.
~svl;rs=f—q3r%mfaaﬁwgwsﬁéwaw
U Ao o |
(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
39 9s9-99 & IaX SAgsnt ar B e o
aar # A, dfe 99t IO ue & wer H
2 =nfea |
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(c) Attempt all questions. Marks are specified
against each question.
il U9 HA T A0S G B 3% ITh
Taer faiRa 2

1.. (a) Mr. Pankaj Kapoor (50 years old) an Indian

citizen left India for the first time on
27.9.2018 for employment in Hong Kong. He
earns the following incomes during the

previous year 2018-19:
. depst YT (SF 50 a¥) T ARAE AN
q BT H OUSTIR % T uem 9R &Hiw

27.9.2018 =H 9 vz &g, I=F Usa a¥

2018-19 & qH =1 omg ure far -

Particulars Amount (3)
faa<or ’ gt (%)
Income from House property 2,50,000
in India

ARA H 99 - 9 o1

Fees for technical services 45,000

rendered in India but received
in Hong Kong ~

IRT H TeBeilehl qard gad A
B Yoo ST BIThIT H Are g

2
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Fee for technical services rendered 34,000
in Dubai but received in Hong Kong

5% & amde durt e HA

PN AT TSR F oo gar

Income earned from a business in 2,00,000
Singapore which was controlled

from Delhi (¥ 50,000 is received in

India)

el & el R § e @

&g (% 50,000 = # m% fepa)

- Interest on debentures of an 12,000

Indian company received in

Hong Kong -

#R#ﬁ?:r\amﬁ & ®oma (Re=r) &

ST S BRI H o g8

Rent from property in Nepal 80,000
received in Hong Kong

AT B TRy Gﬁ

BRI § ore g

3 P.T.O.
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Determine the residential status of Mr. Pankaj,
(giving reasons for your answer) and his taxable

income for the assessment year 2019-20.
8

off GepsT HUX B SAERE FL B frefeer Y

(WWWWW@)W%MH&

2019-20 & R g MF T |

(b) Income earned during the previous year is
chargeable to tax in the immediately
following assessment year. State the
exceptions to this rule. 3
Rrea ad & AR oiRie o adE M
o€ F BT A9 B 39 FEE & ATE Sa |

OR
SEET

(a) Determine the taxable income and tax
liability of Ms. Kalyani Rao (60 years of age)
for the assessment year 2019-20 from the
following information for the previous year
2018-19: 8
Rresr ad 2018-19 @ FrsT gereT & 2
syt el T (S 60 ad) & frereer o
2019-20 & HIFFT A ST HY A B
frerior &R ¢

7004
Particulars Amount (%)
Reraror g (%)
(i) Gross salary per annum 7,50,000
R i
(ii) Gross Agricultural Income 9,60,000
el B A e
(iii) Expenses incurred 1,80,000
on earning agricultural
income :
B AT A" BY I W
T & T A
(iv) NSC (VIII Issue) 40,000
purchased on 01.01.2019
TS g9d 99 (Stedr )
& 01.01.2019 =Hr &
[ERIBE
(v) Contribution to Public 1,20,000
Provident .Fund
qresites afas [ J sfsee
(b) Explain the term ‘assessee’. 3

‘FRErdl A= HI AT HL |
S

P.T.O.
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2. Mr. Alok (a resident individual) retires from | Interest free loan Employer company gives
Reliance Retail Ltd. Bengaluru on October 31, =T Ry p—

2018 after completing 19 years and 11 months
of service. He receives the following

‘an interest free loan of
%6,00,000 0n01.07.2018

which is fully repaid by Mr.

remuneration for the previous year 2018-19.
| ; Alok on 27.10.2018. SBI

- ‘Compute his income under the head Salary for

assessment year 2019-20. i1 : lending rate is 12% p-a.
ffr. ofeiis (e@ha TEd O Atk Rama R : - f&9% 01.07.2018 =t
Riftes, Sge & 19 af 11 = & FHd B frner =t % 6,00,000
gyaTe fasTier. 31 efereay, 2018 T Farf+ga B 1 T S W R IR T S
I5 fomer af 2018-19 & R fee s o< 1. oreliss amr R
FE ¥, o9 FMgior af 2019-20 & R Faw 27.10.2018 =1 gob e

W@TWIQ‘{?oéﬁoaﬂs‘o

aofy & T ITOET HY
i ' % Pl HI =T T 12%

Particulars Amount .(?) W B
[ECES] gt (%) :_;’UE:TC ;’:{IETAIQ:;:Vance : 61\6/31;02;) li)m? (rent paid
Basic Salary 1,80,000 p.m. fr};m 01, 1o 1.;8()12,5},12225;;
T I 1,80,000 Hicrre in his own house) .
Dearness Allowance 35% of Basic Salary % 68,000 HfeTE e,
HEMS T (40% forming part of all 01.11.2018 & . eTeies
retirement benefits) : . =1 % 65,000 gfHme
o A B 35% (JTIE ' T frar T as et
= O S 2 T G 40%) Foft =X & = B)

G 7 ' P.T.O.
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Innova car (2494 c.c.)

AT FX (2494 c.c.)

Pension

S

Car is owned by employer
company and provided

to Mr. Alok for official as
well as personal purposes.
Diesel expenses and

Chauffeur’s salary incurred
by Mr. Alok : 14,000 p.m.

e O eTaer Sl
FHT FH . TP B ITD
T Td HEAEd ST
% o &g &) Iees o
S @ $ fow . e
ERT 14,000 uicHTe foran
T

¥ 1,00,000 p.m. (he

gets 40% of the pension
commuted for ¥ 20,00,000
on01.11.2018)

% 1,00,000 uferre (=i
01.11.2018 =t Y TEaT
40% ¥ 20,00,000 & o=
orey fma)

8
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Gratuity % 25,00,000 (Covered

ﬁagél by payment of Gratuity |
Act, 1972)

< 25,00,000 (Ir=get Grer
A |, 1972 & STwFTd)

Accumulated balance % 30,00,000
from Recognised
Provident Fund
gHToTT sy ffer
ERURSIESIRERUE
Gift from employer < 18,000
company of Microwave
oven at the time of
retirement
qarga 89 & aud e
FHIAT BT IUBR H HTZzhide
e
OR
HLCT

(a) Give four instances where annual value of

house property income is not charged to tax.

: : 2

SEf Js gy @ aifde o ux Y S
AT AT I I=XYT (Teh) & |

9 P.T.O.



7004

(b) Ms. Shilpi (a resident Individual, age 55

years) owns three houses which are used
by her for residential purposes. From the
following information, suggest which house
should be opted as self occupied and
accordingly determine the income under the
head House Property for AY 2019-20. 9

el et (55 aw i othal B arelt) Res

A ol wae oariE ST & S8sd § B
TR H YR X A &

Gl N
PH-TT G I96 @I B SUE H T R
FrgiRer ad 2019-20 % A w9 =Ry Fo

7 ey @1 MY HY

Houses A B C
Hqg-1 H1 fagwer q Ell @
Municipal value 5,80,000  10,00,000 6,50,000
ghwee (Frefa) e

~ Fair Rent 5,88,000  10,00,000 6,30,000
Stra ($a) fean :
Standard Rent 6,00,000  10,00,000 6,00,000
w2
Municipal taxes 10% 10% 10%
paid by her X
M & FX ST SEB BRI
e T g

10

Repairs and Insurance 36,000 65,000
premium

"G B ud AT

diteas

Interest on Date of 11.08.2017

Borrowed borrowing
capital I A Bl
fafer
(Capital was Current 1,85,000

1,00,000

borrowed for year's interest

construction  FEHN g¥ H
of the =S
properties) Aggregate  3,40,000 NA
of Pre
construction
period interest
SR & T
eI W

s (geafa Fmfr @& &
& fmfor 39 9d @ @S
IYR & T

)

11
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1,80,000

01.01.1998 02.04.2015

36,000

4,30,000

P.I.Ox:
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3. (a) Sureshisowner of two buildings which are

used by him for his own business. The
written down value of these buildings is
% 15,00,000 on 1.4.2018 and the rate of

depreciation allowable on this block is 10%.

He purchased another building on
1.12.2018 for ¥ 25,00,000 and sold one of
the two old buildings on 1.3.2019 for
% 18,00,000. Transfer expenses amounted
to ¥ 20,000.

Compute the allowable depreciation/
taxable capital gain for the assessment
year 2019-20. 4

GRY & HEl H OANGH S ST 3AH ERT
s oo oZaam § gg B sa
f&sies 1.4.2018 =hI IURFRT W=l H oI
¥ 15,00,000 gorfam @7 8 X 39 =% &
T 10% He9 &9 Wiga fhar T Sad
f&sies 1.12.2018 @ % 25,00,000 F T&EUT
a9 T fFar i 9B & & WaAl ° 9 UH
9o+ ¥ 18,00,000 ¥ f&=iss 1.3.2019 =l &
FX & s swrarer @d T 20,000

- R

ffreixor g€ 2019-20 & @ &9 TR
®gd X Td HI-IRT Yol @1\ B IO
H |

12

(b)

(c)
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XY & Co. a partnership firm has paid
interest @15%p.a. amounting to ¥ 90,000
and remuneration of ¥ 4,80,000 to its
partners during the previous year
2018-19. The book profits of the firm have
been computed at T 5,00,000. Calculate the
interest and remuneration allowable
u/s 40b. 7 | 4

TFdo dlEo UUE HEOS UH AEErd BH H
15% wfead = a7 & ¥ 90,000 WX 480,000
I Ia+ onfe # s ad 2018-19 H 9+
ARl B gaE fRAT) BH & @@l B8R
% 5,00,000 @ HI ITOTET B FH © |
u/s 408 & ST<IT Wi AT T I hl
T L |

Certain expenses are allowed as a
deduction only when they have been
actually paid irrespective of the method of
accounting followed by the assessee. In this
regard discuss the provisions of section 43B

of the Income Tax Act. 3

13 P,
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FreifReh (cah) arr d/ar & e & 9
A A ard J Hu Fivea @=| & A
F per TWpd H TR B, 39 G H
Y FEw @t g 43 &t &% fEEl @
ol

OR
ST,

The following is the Profit and Loss Account of
Ashok for the year ended 31.3.2019. Compute
his taxable income from business for that year :

11

=i ary-sifr @rar H. oIsies @t TS 8U
a9 31.3.2019 % B | I a9 A BRT AR
FHT IRY AN B T HE

L 4
Opening stock 15,00,000 Sales 2,00,00,000
gRf*Tehs Wi [EEZ
Purchases 1,75,20,000 Closing 27,00,000
HT stock
FRAISTT
i

14

Wages

e

Rent
e

Repairs of car

HT H 7T

Medical

- EXpenses

Ffreda @<
Audit fee
SR b
Depreciation
of car

FHX B B
(gt =)

20,00,000

70,000

30,000

30,000

1,00,000

30,000

15
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Gift from 1,00,000
father
fOar &
SEEIES

Sale of car

PR B fopd

Income-tax 30,000

1,70,000

refund

STIHT  ATIHT

.0,
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Advance 1,20,000
income-tax
paid

AR I
STFIh T

- Profit for
the year

a¥ & fomo @rw

16,00,000

2,30,00,000 2,30,00,000

Following further information is given :
T gEE M R g
(i) Ashok carries on his business from rented

premises half of which is used as his
residence.

319MF 9+ Haard & ford S & o= =21

TATAT & S g8 3799 ATard H IUIANT Har & |

(i1)) Ashok bought a car during the year for
% 2,00,000. He charged 15% depreciation on
the value of car. The value of the block on
1.4.2018 was < 4,00,000. One of the cars in
the block was' sold during the year for

¥ 1,70,000. The cars are used 75% for
business and 25% for personal purposes.

16

4.
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F9MH 7 39 a9 B A= < 2,00,000 H wH
HR TIEr M 15% BT P PIHAT Pl Tedl &
getar | fesies 1.4.2018 3 =Tk H HiHA
24,00,000 a§ & X9 IF FR H T TH
% 1,70,000 # =g &A1 FHX H ITAFT 75%
Zaarg U 25% HAfRETT Biar o |

(iii) Medical expenses were incurred during
sickness of Ashok for his treatment.

JMF B T F arE e gd 5
HEl '

(iv) Wages include % 60,000 on account of driver.

grzax & 7qoigd ¥ 60,000 e T

(a) Manish sold gold ornaments on 7.6.2018
for a sum of ¥ 20,00,000. These were gifted
to him by his father who purchased them
in 1998 for I 3,00,000. The fair market
value of the gold as on 1.4.2001 was
% 5,00,000. His father gifted the gold
ornaments to Manish on 24.4.2018. He
spent ¥ 10,00,000 till 31.7.2019 (the due

date for filing of the return) on construction

17 PO,
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of a house property and deposited

% 7,00,000 on 31.7.2019 under capital gain

scheme and a further sum of ¥ 2,50,000
on 31.8.2019. He does not own any other
house. Compute the capital gain chargeable
to tax for the assessment yeaf 2019-20.

(CII - 2001-02 : 100; 2018-19 : 280)
7
w9 9 R 7.6.2018 @ ¥ 20,00,000

ol onyguer d=r, e S5 Marst |
1998 # ¥ 3,00,000 & @@ o1 37X IR

H gy &1 fRar | fRFie 1.4.2001 s @t @i

mmaﬁ; =T HET 2 5,00,000 | ITh
feies 24.4.2018 H WOT THIT
Y H IgeX # Ryr em) mew A &Hiw
31.7.2019 (Re+t ww=r %t FaifRa ffE) o=
wgq fFefor § % 10,00,000 <X &=
31.7.2019 = ¥ 7,00,000 ST @ArH TrSHr
% o= @d R o ¥ 2,50,000 g:
feqer 31.8.2019 =HI ITH @A | ITH I
AT B TAU HHA T8t o1 Fraier ad
2019-20 % & TSI M9 9T 39 HT Al
TOFT SR | ’

(CII - 2001-02: 100; 2018-19 : 280)
18

(b)

(a)
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Enumerate any four cases where the cost
of acquisition will be the cost to the previous
owner for the purpose of computing capital
gain. : § e
Tr'ﬁ'flﬁ @ H T B Ied F BRE AN
FAR ey SEF eAREEeT B Id

EY qT%roﬁ @ 3 Brl

OR
sTerar

Gurusaran sold a residential house on
28.6.2018 for ¥ 30,00,000. The stamp duty
value of the house is ¥ 34,00,000. He had
purchased this house on 1.10.2005 for
Z 5,20,000 and had spent X 2,70,000 on
improvement of the house during the year
2006-07. He purchased a new house on
21.10.2018 for T 8,50,000. This house was
also sold by him on 16.7.2019 for
% 10,00,000. He purchased another house
on 21.11.2019 for % 8,00,000. Compute the
capital gains for the assessment year
2019-20 and 2020-21. 9
(CII'- 2005-06 : 117; 2006-07 : 122;
2018-19:280)

19 P.T.O.
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TR 7 ¥ .30,00,000 F &l 28.6.2018
e wX R e R ) w2 g gl

- % 34,00,000 3Tpas &I = I I8 T

< 5,20,000 # f&Hies 1.10.2005 3 GI=T o
MY ad 2006-07 # ¥ 2,70,000 gX H
AT A & @ fpar | 3a= < 8,50,000
# f&sies 21.10.2018 At 74T "X @S X
34+t f&Fiss 16.7.2019 =t ¥ 10,00,000 &
== fRar | 3a= B=is 21.11.2019 = 3 8,00,000
H§ gaa wed #a fFari g 2019-20 i)
2020-21 fyizer a9 & oA g @ @t

"*‘F’F-IT?ﬁ'f@I'QI

(CII - 2005-06 : 117; 2006-07 : 122; 2018-
19 : 280)

(b) Enumerate four assets whose cost of

acquisition is taken as nil while cbmputing
capital gains. 2
ST ST &1 IO B TG HHATT ATX
TRl @ sfHEeT god {B A8 aerar
AT AT |

20
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(a) Mr. Rohit Seth (66 years old), resident in

India gives the details of his incomes and
investments during the previous year
2018-19 as follows :

fiy. Afeq To (3F 66 a¥) WA H @A
I o1 ofg ud ffEnT & oad 2018-19 H
faraor =T gepre @A

Salary (computed) : < 3,00,000,

I (o STgER) ¢ < 3,00,000

Loss from House Property: < 2,15,000,
was e o geas < 2,15,000
Long-term capital gains: < 3,00,000 and
Income from other sources (including
savings bank interest of I 40,000) :
%.3,15,000

rft orafer % o @ < 3,00,000 S
a1 =rar @ o (3 40,000 = 9T =0T
gfee) : T 3,15,000

He invested ¥ 75,000 in notified mutual
funds (equity linked savings scheme),
¥ 30,000 in Sukanya Samridhi account
scheme, ¥ 35,000 in debentures of an
infrastructure company.

21 5 B
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He paid a premium of ¥ 25,000 for his LIC
policy on 31.3.2019 (sum assured
< 2,00,000 purchased in 2017-18) and
< 18,000 LIC premium for a policy for his
wife on 05.04.2019 (sum assured
% 1,75,000 purchased in 2017-18).

s&+ % 75,000 SR =ger wog (3R
FUE F=d A 30,000 gERr Tghs

T i R 35,000 RTS8
feaver= % fafs@rT fpar | so9 Reie 31.3.2019
% 25,000 Two TEo o Hftrm (o
2017-18 § ¥ 2,00,000 TH usHE 3 NE))
R R 18,000 HifmsT =i 05.04.2019
(% 1,75,000 @5 ueis 2017-18 # =9 =
) ST R
Compute his taxable income & tax liability
for the assessment year 2019-20.
' 8
af 2019-20 ¥ R emut dFw wd =g
SR B TorET v |

22

———

(b)

(a)
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Explain the provision of Section 80D

regarding medical insurance. 3

S Py (-

& I FARY |

OR
HEEr

Explain the rebate of tax available under

section 87A. 3

T 87 U & <TG IUCH A & BT W

faraor ¥

(b) Explain the provisions related to set off of
losses under the head house property,
business and profession and income from
other sources with respect to inter head

adjustments. (Section 71) 3

o= gwfer 2oft $ ofrig siwal S aET

T At ¥ oI O OETEST @B G E
(e 71)

23 PGk
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(c) Explain the judgement of the Supreme Court
case Philip John Plasket Thomas vs CIT
(1963) and the income tax principle derived
from it. 5

%4 9 M wbe 9ma vs dlo aTso
dlo (1963) & vl = ST
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